


X=416063.8400
X=416045.4724
X=416029.7889
X=416023.1167
X=416164.1916

Y=589703.2680
Y=589641.5973
Y=589580.5794
Y=589542.5518
Y=589550.0862
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atpoin’ X=416143,1372 V=389859.2(. \ s
. : e e L
atpoint  X=416108.0920 Y=5§89796.4123 7= A

atpoint  X=416083.3815 Y=589746.1719. 7= oooan\f
atpoini  X=416063.8400 Y=589703.2680 Z=  0.0000
atpoint  X=416045.4724 Y=589641.5973 Z=  0.0000
atpoint  X=416029.7889 Y=589580.5794 Z=  0.0000
atpoin: X=416023.1167 Y=589542.5518 Z= 0.0000

atpoin:  X=416164.1916 Y=589550.0862 Z=  0.0000

area 25677.7330
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